l H
E r ——F
::[ L
——
#ME: RTULR (SUS303)
S 4% = 5 =
& wEas | eI | RS (mI:n) (mDm) (mHm) (mEm)
T-BN-4M15SS M4X0.7 6.1 05~15 9.5 6.0 9.3 0.8
T-BN-4M25SS M4X0.7 6.1 1.5~25 105 6.0 9.3 0.8
T-BN-4M35SS M4X0.7 6.1 25~35 115 6.0 9.3 0.8
T-BN-5M15SS M5X0.8 71 05~15 105 7.0 10.3 1.0
T-BN-5M25SS M5X0.8 71 1.5~25 115 7.0 10.3 1.0
T-BN-5M35SS M5X0.8 71 25~35 125 7.0 10.3 1.0
T-BN-6M25SS M6X1.0 9.1 1.0~25 135 9.0 12.3 1.5
T-BN-6M40SS M6X1.0 9.1 25~40 15.0 9.0 12.3 1.5
T-BN-8M25SS M8X1.25 11.1 1.0~25 15.0 11.0 14.3 1.5
T-BN-8M40SS M8X1.25 11.1 25~40 16.5 11.0 14.3 1.5
T-BN-10M25SS M10X1.5 13.1 1.0~25 155 13.0 16.3 1.5
T-BN-10M40SS M10X1.5 13.1 25~40 17.0 13.0 16.3 1.5

R B
2008. 2. 15

BRI

b=y ]

TRusco SRAOPIUHKRKESH

=]
AR

%

oV Try b FEE

[m]
AA

&

T—BN—-—OMOQOOSS




